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107 = 7% 100 =
1070 = 267.9 x 102 =
824.8 + 100 = 746.9 x 100V =
7x10% = 389.7 + 10% =
—1x 10 = 6 x 10 =
1077 = 169.1 x 1004 =
1079 = 100D =
1009 = 7% 100H =
676.6 + 107 = 1073 =
100D = —1x10" =
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107 = 0.0001 7% 107 = 0.007
1077 = 0.1 267.9 x 1072 =2.679
824.8 + 1072 = 82480 746.9 x 107 = 74.69
7% 10% =700 389.7 + 10* = 3.897
—1 x 107 = -0.0001 6 x 10 = 60
1072 = 0.01 169.1 x 107 = 0.01691
107 = 0.001 1077 = 0.1
107% = 0.0001 2% 107 = 0.0002
676.6 + 1072 = 676600 1072 = 0.001
1079 = 0.1 ~1x10°=~1
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